
WB SERIES

www.emmegiinc.com 

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S
WATER  /  OIL  BRAZED  PLATE  OIL  COOLER

HEAT EXCHANGERS





Ordering Code
Model Size / Series Number of Plates Mounting Bracket

39WB 14

Blank           Includes Mounting Bracket

NB                 No Mounting Bracket

39 WB  =            3”   x   9”

Model Size

10 14 20 30 40

N.2 M8 x 25 Bolt

8.
68 6.
77

3.15

4.88 1.06

2.13

2.
75

ABC

B C

OIL WATER

39 WB 10 1.32 2.4

39 WB 14 1.70 3.0

39 WB 20 2.28 3.8

39 WB 30 3.25 5.1

39 WB 40 4.21 6.4

A
(inch)

NET 
WEIGHT 

LBS.
MODEL

OIL CONNECTIONS

# 10
SAE

1/2" 
NPT

# 12
SAE

3/4" 
NPT

5 10 15 20 25 30

5

10

15

20

25

30

GPM

H
or

se
po

w
er

  H
ea

t  
Re

je
ct

io
n 

 @
  5

0º
F 

  E
TD

OIL    ∆P

=   5 PSI

=   10 PSI

=   20 PSI

=   30 PSI

ISO VG32

PERFORMANCE
BASED ON

2 : 1
OIL / WATER

RATIO

39 WB 10

39 WB 14

39 WB 20

39 WB 30

39 WB 40

www.emmegiinc.com 3

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S

39 WB Series - Dimensions & Performance



Ordering Code
Model Size / Series Number of Plates Mounting Bracket

125WB 20

Blank           Includes Mounting Bracket

NB                 No Mounting Bracket

125 WB  =          12”   x  5”

Model Size

10 20 30 40 50

N.2 M8 x 25 Bolt

12
.9

1

9.
53

4.72

7.05 2.76

4.02

5.
51

A
BC

2.36

B C

OIL WATER

125 WB 10 1.28 6.2

125 WB 20 2.24 8.7

125 WB 30 3.21 11.2

125 WB 40 4.17 13.6

125 WB 50 5.12 16.1

# 16
SAE

# 20
SAE

1
NPT

MODEL A
(inch)

OIL CONNECTIONS NET 
WEIGHT 

LBS.

3/4
NPT 

5 10 15 20 25 30 35 40 45 50 55 60 65

5

10

15

20

25

30

35

40

45

50

55

60

65

70

GPM

H
or

se
po

w
er

  H
ea

t  
Re

je
ct

io
n 

 @
  5

0º
F 

  E
TD

OIL    ∆P

=   5 PSI

=   10 PSI

=   20 PSI

=   30 PSI

ISO VG32

PERFORMANCE
BASED ON

2 : 1
OIL / WATER

RATIO

125 WB 10

125 WB 20

125 WB 30

125 WB 40125 WB 50

125 WB Series - Dimensions & Performance

www.emmegiinc.com 4

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S



Ordering Code
Model Size / Series Number of Plates Mounting Bracket

205WB 30

Blank           Includes Mounting Bracket

NB                 No Mounting Bracket

205 WB  =          20”   x  5”

Model Size

20 30 40 50

N.2 M8 x 25 Bolt

22
.0

4

18
.5

8

4.80

7.04 4.05
5.12

5.
51

ABC

2.36

B C

OIL WATER

205 WB 20 2.09 14.6

205 WB 30 2.97 19.1

205 WB 40 3.86 23.7

205 WB 50 4.74 28.2

NET 
WEIGHT 

LBS.

# 16
SAE

MODEL A
(inch)

OIL CONNECTIONS

3/4
NPT

# 20
SAE

1
NPT

5 10 15 20 25 30 35 40 45 50

10

20

30

40

50

60

70

80

90

100

110

GPM

H
or

se
po

w
er

  H
ea

t  
Re

je
ct

io
n 

 @
  5

0º
F 

  E
TD

OIL    ∆P

=   5 PSI

=   10 PSI

=   20 PSI

=   30 PSI

ISO VG32

PERFORMANCE
BASED ON

2 : 1
OIL / WATER

RATIO

205 WB 20

205 WB 30

205 WB 40
205 WB 50

205 WB Series - Dimensions & Performance

www.emmegiinc.com 5

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S



Ordering Code
Model Size / Series Number of Plates Mounting Bracket

2010WB 40

Blank           Includes Mounting Bracket

NB                 No Mounting Bracket

2010 WB     =          20”   x  10”

Model Size

20 40 60 80

N.2 M10 x 25 Bolt

23
.9

6

20
.7

5

9.65

13.78 3.94
5.98

5.
51

A
BC

3.94

B C

OIL WATER

2010 WB 20 2.09 38.2

2010 WB 40 4.02 56.2

2010 WB 60 5.94 74.0

2010 WB 80 9.80 91.9

# 32
SAE

NET 
WEIGHT 

LBS.

1¼
NPT
1½

NPT

MODEL A
(inch)

OIL CONNECTIONS

# 24
SAE

# 20
SAE

2
NPT

20 30 40 50 60 70 80 90 100 110 120 130 140 160150 170 180 190 200

20

40

60

80

100

120

140

160

180

200

220

240

260

300

280

320

GPM

H
or

se
po

w
er

  H
ea

t  
Re

je
ct

io
n 

 @
  5

0º
F 

  E
TD

2010 WB 20

2010 WB 40

2010 WB 60

2010 WB 80
OIL    ∆P

=   5 PSI

=   10 PSI

=   20 PSI

=   30 PSI

ISO VG32

PERFORMANCE
BASED ON

2 : 1
OIL / WATER

RATIO

2010 WB Series - Dimensions & Performance

www.emmegiinc.com 6

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S



Ordering Code
Model Size / Series Number of Plates Mounting Bracket

258WB 60

Blank           Includes Mounting Bracket

NB                 No Mounting Bracket

258WB     =          25”   x  8”

Model Size

40 60 80 100

N.2 M10 x 25 Bolt

25
.6

7

24
.4

9

7.76

13.78 6.61
7.87

5.
51

A
BC

3.94

B C

OIL WATER

258 WB 40 4.17 49.1

258 WB 60 6.10 75.2

258 WB 80 8.03 109.1

258 WB 100 9.96 126.6

MODEL A
(inch)

OIL CONNECTIONS NET 
WEIGHT 

LBS.

# 32
SAE

2
NPT

# 24 1¼
NPT

20 40 60 80 100 120 140 160 180 200

40

80

120

160

200

240

280

320

360

400

GPM

H
or

se
po

w
er

  H
ea

t  
Re

je
ct

io
n 

 @
  5

0º
F 

  E
TD

258 WB 40

258 WB 60

258 WB 80

258 WB 100

OIL    ∆P

=   5 PSI

=   10 PSI

=   20 PSI

=   30 PSI

ISO VG32

PERFORMANCE
BASED ON

2 : 1
OIL / WATER

RATIO

258 WB Series - Dimensions & Performance

www.emmegiinc.com 7

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S



www.emmegiinc.com 8

H
E

A
T

-
E

X
C

H
A

N
G

E
R

S

Part 
Number

Female
NPT

WYE 050
WYE 075
WYE 100
WYE 125
WYE 150
WYE 200

½”
¾”
1”

1.0
1.3
1.6

0.2
0.4
0.6

1¼”
1½”
2”

2.0
2.3
2.9

2.3
2.7
2.9
3.6
4.0
5.0

2.1
2.4
2.4
3.6
3.8
4.7

1.2
1.6
2.6

A
Inches

B
Inches

C
Inches

Weight
LBS

C

B

A

• Max Pressure = 125 PSI
• 50 Mesh Screens

Bronze WYE Strainer

AVTA - 0.5 - BW

AVTA - 0.75 - BW
AVTA - 1.0 - BW

104°F
122°F

140°F

Part 
Number

Female
NPT

Adjustable
Temperature Ranges

77°F - 149°F
25°C - 65°F

Max Flow
Rate GPM

Weight
LBS

25
44

65

3.2
3.3

3.6

Normally closed valve opens on rising temperature
at the sensing bulb/bulbwell. Modulates water flow into
cooler without the need for any other external input. Typically 
the sensing bulb/bulbwell are intalled in the reservoir.

DetailsInstallation

Part numbers include both valve
and bulbwell

Max operating temp: -13°F  - 266°F

Max working pressure: 232 PSI

An arrow on the valve body indicates the
�ow direction.

The installation of a WYE Strainer ahead
of the valve is recommended.

Care should be taken to not kink the
capillary tube during/after installation.

ø0.79”

2.17”

8.
82

”

ap
pr

ox
.  

9.
60

”

¾” NPT

Capillary tube length
6’ 6” (All water valves)

Thermostatic Operated Water Valves


	01-WB-COVER FRONT
	02-WB-FEATURES
	03-WB-39
	04-WB-125
	05-WB-205
	06-WB-2010
	07-WB-258
	08-WB-Valves and Strainers
	09-WB-WORLDWIDE



